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12. Which of these two provide proof of excellence of Indian metallurgy before
industrial revolution ?

a) Damascus swords of West Asia and iron pillar near the Qutub Minar
b) India gate and Gateway of India
c) Tippu Sultan’s sword and palace

d) None of the above

25 39N 03RB DRIV FMPOT 59,0803 2P0 LPTSECIT CINT 303 QTR
QI INTDINS ?

a) T DTW,0 BRPRA" TS 023 BB QAT 29030 mwsacd B0
b) 0RO riets’ =B rReerese esa” 0CI

C) %) RORTT 38 308 29009

d) SoedT CRPTR VY,

13. WHich one of these depletes the ozone layer and causes global warming ?

a) Nitrogen dioxide b) CFCs

¢) Ammonia d) Allthe above

2R SR0POUT 030 WRYNT LR’ 232003300630 TR LPNSE SRR WOFN
F0L0TNE ? _

a) WORIBE & T, =° b) 3acdee HRITRE FWEFT

Cc) BRI d) S0edT SOTP

14. What is the maximum speed possible for any wave in the solar system ?
a) Every wave can have its own speed b) Speed of light '
c) Speed of electron d) None of the above
RROIF ROBOTE, CIRTTe WOT LISN ro“aqﬁzsmrbd 93,08 Seresem), ?
a) D o0 BIHe YT VNS BROTUTEIT
b) 238 BencR),
C) 2S5 I BENTIR,
d) S0edT INTER VY,
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15. Washing soaps contain
a) Potassium salts of fatty acids
b) Sodium and calcium salts of fatty acids
¢) Potassium and sodium salts of fatty acids
d) Sodium salts of fatty acids
BRYOEL VTR ENRIT TLRRIND T3 ZPAT 0303 O BRODES 9
a) 3RS YNV FPEDA0I0 OB
b) EpwR wxHne 59,9080 308) RPERODC VD
C) ZAWR SRING AReROI0 BB FPLPACI0 Ted
d) i;az:gp SN BRERODO ©E3

16. Primitive observers defined natural phenomenon as an activity of

a) Super natural forces - - b) Humans

¢) Machines d) None of the above

SRPETOD T TPRF ) 17087 w803503 é)e@jﬁda 3 @@oﬁadﬁ@{ QOTO

9,509, ARISTIT.

a) ©CREs BY b) SRz=3

c) chogrieh d) Se08 AR e
17. Science and Technology in Ancient India is a work by

a) Joseph Needham b) D.P.Chattopadhyaya

c) Sushil Kumar Mukherjee d) John Bernard

TR ¢RTESTY. Qen D 08 BoF e P B3 PIES SedTO)

a) BREAT® VPRI b) &. & WedRemRTR,oD

C) ROBES BOWRT® 330D \ d) 23 wRFE's
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18. DNA Finger Printing is used in Forensic test is based on

a) Matching of the DNA sequences from specimen’s crime site and suspects

b) Matching of the DNA sequences from specimens at crime site and suspect’s
parents

¢) Matching of the DNA sequences from specimens at crime site and suspect’'s
children

d) Allthe above
G e (Forensic) @oimmoodadé DNA 23093, 0e3030 Q:S’@dd a:'bee? e
BN 350
a) L Neideb B8 InToND 083 J088 [Ecd DNA ERvnea] aﬁ:aomsé@
b) e Neﬁtﬂ BRTO BB 30883 BT ¢9Te00 @ozmdod DNA 9358300 8p0T0eds
c) Feim N%fci BRTO B3 B8 =8¢ DNA IRBRIB BROTEST

d) aSoe@aﬁ aq@a
19. The radiant energy of the sun is due to
a) Nuclear fission b) Nuclear fusion
c) Radioactive decay d) All of the above
RROFES T TEOIN 03RTO0THNCS ?
a) LC0NTTI b) HTRTEN RNV
c) &¥Tea TOW S d) $0edF HVIP
20. Origin of Species is a work of
a) Mathew Armold b) Charles Darwin
c) Albert Einstein d) Sigmund Freud
3 e o SesdEcd “
a) IR SWFS, b) WE BRF S
C) BOWF TR _ d) Aoz’ 0507,
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21. New way of thinking, sparked by a philosophy known as

a) ‘Humanism b) Socialism
c) Behaviorism d) Politics
VR SURCWINIT T OQOINT B8 2559
a) WRVDIVTT b) AaRERD
C) SBrawees d) oomseodd
- 22. The Iafest satellite launched by India is
a) Astrosat | ~ b) Rohini
c) GSAT 18 d) INSAT3DR
23er GRTSEY YUEICHNT PUERE IR 7
;) @m@mﬁw b) deedes
c) mEr -18 d) am s -3DR

23. A social science is the systematic study of

a) The natural world - b) Models of reality
¢) Human behavior and éociety d) Experimentation
IR BT AR o) qﬁ@ B3 FPND 3T gdauz:é 5 030TONG ?
a) JRNFT BT b) Fecd &nwd
C) VNTX SERVF 308 NedIos d) = cdeenss

24. Who laid down the first accurate laws of motion for masses 7
a) Nicholas Copernicus b) Galileo
c) Oldham ; d) Einstein
B0 W07 TR 0N WBOTD DOIRONTR), VDTN T30 DATBTO
a) JFRCVT® BRETF TA® b) ROS3we
c) Low ; d) 02"
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o5. Photovoltaic energy is the conversion of sunlight into

a) Chemical energy b) Biogas

c) Electricity d) Geothermal energy
ci%éad%sma’é BEOI0 RPTBEORRY, 3N BOBEFRIBT,

a) TORROINT TE b) 2§evE o

C) T Ty d) Bz 8

26. Protected land for conservation of wild life, plant and animal resources and
traditional life of tribals living in that area is known as

a) Sanctuary b) National Park

c) Biosphere reserve d) All of the above

DD, AR, RS T, ROTIB) THONR ADOTTIVOWE wzéﬁ&ow 2T BeRS m’od@ﬁmﬁ
ﬁd)d@tﬁfé&f?ﬂi R[0T FT030T0 ? '

a) 2303003 b) ooy ec® VTR
C) RN | d) SIS AOTP
27. What was the first disease to be treated with a specific chemical ?
a) Tuberculosis b) Syphilis
¢) Bacterial meningitis d) Whooping cough
QOFR, TIRORIT WROONOT 23BRRTTE, TR BT 0909 03RO ?
a) 3O deen b) 289x°
c) BT w8, d) Tool 3%
28. Radioisotope used in production of nuclear weapons in India is
a) Uranium b) Plutonium
¢) Thorium : d) Radium
YRS IR, BeaROEODE) GUTCIRENTR Q8T Aempowd(isotope) e -
a) 03030300 b) s3pedeedosd0
C) GPeDC30 _, d) Je@odoe
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29. Which of the following is an example of genetic variation ?
a) Two children have different eye colors
b) One person is older than another
c¢) One person has a scar, but his friend does not

d) Todd eats meat, but his brother Rod is a vegetarian

HIINTYHNGE 3R 9353088 BRI VT BOTBCIING 9
a) 3ed e3ed 595:3 2EY BRODT TR abé%ﬁo

b) mﬁdﬁo@’ so’o;b—acﬁ a:ba’:au

c) L), a&aai moad% 9D Re&BAr :bzi BLOTOTYTO

d) &ERE® IRoRTO ST 9 velienten R, TD0

30. The moons of Jupiter are called

:‘3) Satellites b) Simpleton
c) Galilean d) None of the above
nonEs wﬁ@ﬁr{@a@t RO FTOREDAL 9
a) YUEn®END b) Ao@merume
c) RODDRE d) S0eOF conBe e
31 and_____ aretwo major discoveries of 15th century which led

to expansion of white colonies outside Europe.
a) Spinning machine and telescope b) Gunpowder and steam engine
¢) Gunpowder and Mariner’s compass d) Mariner's compass and telescope

ai:éa CI0TRETNEN WPOT ST RO m@m@&m 3
15 3e @’Sair\aﬁ’cﬁ D00 T80 0T cfmde

8) SPw abog B AeSErE  b) WoIBE B Kon %03,
¢) BOE B ™) 0TS B3 d) DTS D8R8 W2 BRTESES
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32. Non-conventional sources of energy are
a) Nuclear, Biomass, Wind, Thermal
b) Geothermal, Ocean, Solar and Nuclear
c) Biomass, Solar, Wind and Tidal
d) None of the above

9RO TIVOWT BOFIT BUUNED

a) WORRERD, TS, T3, T

b) ©emed, WS, AOT o8Y TSRRERD

C) eToRd, FOT, FWICIN WY AN SOV
d) BoeOs CIRDTRR 8,

33. GreenHouse gases such as carbon dioxide and methane cause
a) Increase in planet's surface temperature by blocking sunlight
b) Decrease surface temperature by absorbing sunlight
c) Increase planet surface temperature by trapping moisture
d) Increase planet surface temperature by trapping the heat in the atmosphere
BT LRONRT QOO BT, & BB ST
a) RROIFES $TLNTRBER PRTITZI, BUROTS
b) BRCIHFS T2E, &ed LIROCH STBZ) BRO BRI
C) 03 LBOL, 230003 e, FOTRI) BUROTS
d) T[T DRI, BTEERT L0 a’oetgdmaﬁa}sﬁgi ﬁzﬁwﬁagﬁ
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34. Internet can be defined as
a) A software program installed on a computer
b) An electronic device for printing documents
c) A world-wide collection of computer networks
d) A power backup source
BB LDUTI) s FINT0S 9,209, 3 BRBUBR
a) NEATOICT Y SRTWAT 20T RO e
b) TSR SoayRen vwmednensds DTBNS P
c) 0,708,038 Neagoso08 Ry e Rons
d; DT BeDTBOD G

35. The fear of GM crops for human consumers are due to
a) Lack of information on long term effects on biodiversity
b) Religious practices are against modifying a species
c) Foreign genes in food may cause cancer

d) All of the above

BOUR0ZO FYNY SUSwr Mo, BEC BETL 5358

a) e FOGT e AP DR F OB BOBIRT wrf ma:)cﬁrf@cg@d:@da_
b) oors SWOTBORE), a@ﬁ;ﬁ VRO3RENT Ve

C) 38 BT NFOTORN BRSNS 2SN TF0® GLOLTINES o

d) 20O a3 :
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36. Scientific studies of nature is necessary in society for
a) Simple curiosity and improve people’s lives
b) Economic development and enlightenment
c) Increasing control over our planet and its environment
d) All the above
RASRBHO_ TS0 2 e;@ﬁ? @z;gsojaﬁﬁ%* waﬁ‘%ﬁé QBT
a) 2BRBOOOT BN WST LB ROGIOFLD
b) =83 t:sa;’)azioﬁ% TN TR _ﬁ.raemﬁﬁ
c) B B3 ©us TBIRTEAT F30eES VAR0T,89 A HRIR)TO
ol)3 eI VTP

37. Which of the following is a weather sensing satellite ?

a) Astrosat b) Radarsat

c) Meteosat d) INSAT 3DR
23 SSNSIYNSE), OB BRI RO YVHNRT ?

a) SRR b) Jweo AR
¢) DoucIRTmRET d) o', 3DR

38. Father of Indian Nuclear Programme is

a) J.C. Bose b) HomiJ. Bhabha
c¢) Vikram Sarabhai ; d) C.V. Raman
2TBE TR 03RSO WIB

a) 2.2, Brea® b) TBee . oL
C) &8I WTIYIOIT® d) 2.8. 00RO
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39. First Nuclear Power Plant set up in India is
a) Narora Atomic Power Station established in 1979 at Maharashtra
b) Tarapur Atomic Power Station established in 1969 at Maharashtra
c) TarapurAtomic Power Station established in 1969 at Uttar Pradesh

d) Kakrapur Atomic Power Station established in 1969 at Gujarat

iR 1) 013 ot 30, PO e e ey RO MR 2
a) 1979 09 Somoer 39, AT ITRET €262 AR

b) 1969 09, ST, P oS 35 AT

C) 1969 B9, »v83d BBeBTY. RRIZ SOV B0 IS

d) 1969 09, ORI 28 5%

X D,F)T" 90 :aa@dd

40.

Lt

Which of the following technological advances are affecting human cogpnition,
emotions and ethics ?

a) Bus, aeroplane, microwave ovens

b) Boifers; metro trains, television

c) Internet, cell phones, digital communication devices

d) Submarines, radars, missiles | :

BINS oI 20083 @@;’éc‘fgpo:b AEING BRTDS 905y, PR Y F253n Boees
TOFR LTSS 9

a) WA, VIR, BBREHeR* 0w (oven)

b) m%@ ,'aﬁaéi{a) Z e, ZRTESFS

C) ©OBT L), Be® Zpex® 53_%38 BB FINTO

d) RROBMFOTIT, Sl=plogfovcy 3963
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PART-B
QPN - W
' Note : Answer all questions. Each question carries 2 marks. (15%2 = 30)
- BAuS: R BINIS) YIS0, BITIr 2 ES0BNT.

41. Which of the following definition for ‘Science’ has been coined by Carl Sagan ?
a) Science is a way of thinking much more than it is a body of knowledge
b) Is an infellectual activity carried out by humans
c) Science is a knowledge covering general truths of the operation of general laws
d) All of science is uncertain and subject to revision

POF AMT'T BF0 NRID 2, 309,
a) RT3 > 56 B0TTRUT SR WRNAF TN
b) B0 SBRO 2,060 20’96%% 2383035
C) AOTRT, 7S, WO O, QO3NS @méaidféodﬁ:agﬁraod D) B;S
d) eI QOTP WROFR, TR BORTET LIMNBET
42. Difference between hybrid and transgenic or GMO plants

a) Hybrids live longer and transgenics live shorter
b) Hybrids arise due to cross pollination, while transgenics are produced by transfer
of specific genes from different species
c) Hybrids are generated from grafting but transgenics result from germination
d) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled
S0TTY 08 030 SYNYNTD dga P
a) o3, é@ﬁ% DETE TV, '&‘)@DO@@T{@;}J POFOY BB
b) wIBerish e Toony 032000033 &ru:%&cﬁradcﬁ 3000080 FINE DOF R, WRTOSECD
ﬁ?@ﬁ@;}& wed 23?33053 AR FRNDOT IFRRR W@D@N@Dﬁﬁ
c) Qo é@r{cﬁc& énad:atéa@d@od 30350003, &moé@r{%ﬁm SRFFWOT BOIRORCINZE
d) aoeﬁta’@r{@}@ £930530878 BLaNehd BRTWTT ACZ0E, md@d:: a’a@ao@@ﬁej@ 2laS) *aqﬁ A
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43. The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades is

a) Environment change b) Global warming

c) Health change d) None
B[ TINH), tdpsfoed, B 392 BNCB om0 STRRERE, FomINREE DOFeI0
8) BBVN WEVDH b) NET TSRTT 203

c) esc?&aerﬂ;cﬁ VRIS d) amRTER e,

44. Match the Philosopher/Scientist with their contribution :

Scientist Contribution
A. Aristotle i. Three laws of motion
}B. Newton ii. Laws of inheritance
C. Gregor Mendel iii. Gravitational force
D. Galileo iv. Scientific methods
a) A=iii,B=i,C=iv,D =ii bJA=li B=iv, C=iD=ii
¢) A=iv,B=i, C=ii, D=iii d) A=ii, B=i, C=iv,D =iii
3 2 0 DRIMT) ©TT BT BRoRTS ROCIHE Beods:
R | 2%
A. R i. 280803 Bwath Ve
B. 34 i, ©RTedeC3d ACBOND
C. Ano® Home’ : lii. MoTED B s B8
D. nddadne iv. %m@{oﬁ@@aﬂﬁ@ﬁo
a) A=iii,B=i,C=iv, D=ii bR =i, B=iv C=i D=
¢) A=iv, B=i,C=ii.D =iii\, d)“A=ii, B =i,C = iv, D =i
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45. For a fixed mass of gas at constant temperature, if we decrease volume, the

pressure will

a) also decrease b) increase

c) remains constant d) none of these

%dmcﬁ TOTRRT| YVTOSTY, 20T ?&d RO BFTIHCD Howmwes(volume) e85 36a3
BRRTT, WIBD) et

a) BRBIIPNIZT b) émwmgcﬁ

c) %dwaﬁdogd d) BT CIRPTP VO,

46. How stationary waves are formed ?
a) Atransverse wave superposing a longitudinal wave
b) Two waves of the same speed superposing
c) "ll'wo waves of same frequency travelling in the same direction
d) Two waves of same frequency travelling in the opposite direction
2%55 £2e31%0 Bert LVoERNIZES 7
a) 2,000 [FR Se3N UTTFCD 29303073 F0eS WePOR)BOOTS
b) 2u0T3e Henc TR ESNEd wors e3P0 LTI TO0T
C) 20T &S0 OB SN0 2.083¢ D5, BORIYBOOT
d) z.ctie 380 QTR WSNLD é;)dx:é) a@ﬁ@mw@m@am

47. Nano smart materials that alter shape under the influence of an electric field is
a) Thermoresponsive materials b) Polychromic materials
c) Electrochromic materials d) Piezoelectric materials
DT 3BT BOFRROROT B, STTRE LTEDOUR FRE 23058>(nano smart)
DTN DOTI) FB0IRT.
a) VR T3P VRFE N b) 2WRIERE TR
C) NEER,LER T SRR : d) Feieeacss s SRND
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48. Second stage of the industrial revolution
a) Consumable goods production b) Capital goods production
c) Standardization d) Productivity

49.

50.

30T 59,0800 DTERE B0 cm@cﬁﬁ ﬁowo@%cﬁg} ?
a) M®HT ATRNY WITS b) womEme¥ RoBony BT
C) T@»edesden d) wveacsss

Which of the following is true for “Sound” ?
a) Sound cannot travel through a vacuum
b) Sound cannot travel through gases

¢) Sound cannot travel through liquids

d) Sound cannot travel through solids

‘B S 81 FINT IR ROBROTZTS 9

a) AP (vacuum) sHneB 393035 b) @Rond Doees B3O8
C) TN DR BOTHT d) PP e ORI
Which statement best describes the structure of an atom ?

a) Atiny nucleus of prdtons and neutrons with electrons orbiting around it
b) A positive core surrounded by electrons packed tightly around it

c) A particle comprised of a mixture of protons, electrons and neutrons

d) A large core of protons and electrons surrounded by neutrons
20T saadabq B3 F$NS 03NS Bee3 QBWORIZTS 9

a) TPUNT TR BRIBI V0T 8RB, 2S5 Y08 SHBRATITR 1o Ry Feod
b) 28w T neess RBymOw 2.0t PI0TE Feor

C) TRENT’, IRV BB AT D DN S0 £aT3 0T Fed

d) SR RTYen RRTOT o et =3 DR I 2,00 B Feory
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51. Heliocentric model of Nicolas Copernicus explains the motions of planets
a) Motion of astronomical epicycles
b) Motion of-heavéniy bodies around the earth
c¢) Motion of planeté around the sun
d) Motion of satellites around the planets
DEREVT’ BRETIFIRTT ARG, FeoDZ BRTENT WO BRTOCRBFT, NBENY
PO 8 FNTOZ T FRUIBITD.
a) DR BRWTT 0801 WO

-E_j‘-

bf ©R2003 28 $EBEaNE BuS
33 308 @ne Wos

d) RN 28 LBnHNY WS

%L

C) 7

52. Ancient Indian knowledge of theories on human body, symptoms of disease and

remedies in ayurveda are made available in which Sanskrit text ?
! a) Arthashastra - b) Charaka Samhita

c) Chandasshastra d) Aryabhat:ya

ST S0e8T B, dmeriﬁeﬁ MOLAUBFOTTE 3089 eﬁa@)ﬁ%ﬁ 238378 €5030053eF B0 2R qua’)
a‘{a)z,%ed (03B 0IRR A fooN 3R ROPRG), T OWBIW 7

a) eﬁqsre;a:q; b) 2308 ~0&3
C) onA, d) esgegeseosd
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53. Informed public with science and technology background are necessary in a
Democracy.

a) To convey to state necessity and feasibility of intended science business

right ones

c) Tobring transparency in technology based business, policy-making on vital issues

d) All of the above

@,’zsacg’zjo@édebm R0 ,ﬁ ®08) Bog e chd é#ad@'@om% R WITS @%ﬁ%ﬁi FOTED

a) @’z;b%i;‘; NUTESB T ﬂg-sogm _45 - &3003 T, O3R WY "@ccbrmz;gséab wii
EPTE0

b) daéaq:gg %@gjﬁ@@dﬁ%d o tan ) P AT FENY zorj; BEFNRPOT :d@cc’uacﬁcjgﬂi 03,

b SvEen
C) B3R F - 8003 w0 sy QRN F5or3x 6N T3TBF 83 Zoen
d) B0ed3 aezge

54. Importance of information technology in education are

a) Faster access to information from across the globe

b) On-line libraries and dictionaries, make grasping and Iearnir!g easier

c) IT based communication systems such as emails, SMS help interaction for clarity
d) Allthe above

835909 B 032 ) T TR0 IN0

a) TToID JRd mmcﬁﬁ%?gtﬁ de, Bkl 033

b) &3°-&° nogyiowmed WOB) WBF NPT QRODNES &6z, 1o 2080 3OFaD Rl

C) Bn&e-3oZen D OGROB RORBS MGNTememails, SMS BU0T ARS

d) eI e3P
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55. Match the scientists and their discoveries :

Scientist
A. Alfred Nobel
B. Edward Jenner
C. Newton
D. Thomas ;C\Iva Edison
a) A=iii,B=i,C=iv,D =l
b) A=iv,B=iii, C=i,D =i
c) A=iii, B=iv,C=i,D =l
d) A‘_—.ii, B=i, C=iv, D =ii

Discovery
i. Vaccination
ii. Electric bulb
iii. Gravitational force

iv. Dynamite

39N @m@ﬁ# éﬁd&a{ 9330 a&m&dﬁ@ﬁ BRODAD:

NIV N
~ar
A. s6E° SR
)
B. @afﬁcsfr ﬁ@p"
C. 5@5&@’

D. GoR® &5, QRRDT

a) A=iii, B=i,C=iv, D =i

b) A=iv,B=ii, C=i,D=ii

c) A=iii,B=iv,C=i,D =i
A

d) A=ii,B=i,C=iv, D =iii

esaaq'%d

. OF
. &cﬁaéa‘ ATy
i. OB Gjﬁrsa B8

: cédaad%w
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this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
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space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
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Mark Reader (O.M.R.) system, special care should be taken to fill those items
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4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
one mark each and Part — B contains 15 questions of two marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5 All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.
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any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.
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PART -A

TN - D

Note : Answer all questions. Each question carries 1 mark. (1x40 = 40)

* BAUWS : 9GY ajzirife'a’)gl SISO @3@%& 1 e203.

1. The lens used to construct a Microscope

a) Convex b) Concave

c) Biconvex d) Biconcave
RRT, T3BFHE SOIRTFTT euzednenxoss FORRT C3RRYTI0 ?

a) QeI TORRT b) Q&35 =0meT

C) Q- BoRRT d) Q-3 =oReT

2. Most likely event which can cause a rise in the average temperature of earth’s
atmosphere in future is

a) Forest fires

b) CO, from fossil fuels

¢) Dust clouds from volcanoes

d) Depletion of earth’s ozone layer
POFR T RO00D BooBNRTTY, R0IRO THTBNRIE DO C8RH DWBRID0T
ROLIRIR RIat &5‘253;.7

a) oo,

b) P30V BOFINOT LVOEDMIE BOMDERR),

C) 2%,TRBNDNPOT BRTBRYS FPRYT BRBNSD
d) 23000 LWERER BECE APTY
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3. Plants with green and tender stems are called

a) Herbs
b) Shrubs
c) Trees
d) All of the above
BT TOBIIY, BROOVJARNGIY QO FTOIVZT.
a) N®
b) @oweds
c) &
d) B0eOS dYIP
4. l—iigh Yielding Variety Seeds (HYV) were introduced to Indian farmers as a
result of
a) White Revolution b) Green Revolution
¢) Red Revolution d) Orange Revolution
B3, B0 FREI WewnPR) eden 3Eon TORICWATT HOTEDRRIEO ?
a) 3 25,08 b) ®20E,08
c) %008 d) sevE08

5. Who is known as the father of Indian Monsoon Model ?

a) Madhavan Nair - b) Vikram Sarabhai

c) Vasant Gowrikar . - d) C.N.R.Rao e
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6. Who was the father of White Revolution ? \."\\
a) Dr. Norman Borlaung b) Dr.M.S. Swaminathan R
c) Dr.Varghese Kurien d) K.N.Bahal
P T3E $¢T 59,0803 TOFIT CIRTO ?
a) oIl PWFT WRETION® b) Tl 0. DF°. A NRTS”
¢) @Il BNeFF® BDCNT® d) 3.0 WRS -

7. Scientific management of animal livestock, breeding and diseases control is
a) Animal husbandry b) Animal based farming
c) Bothaandb d) None
RTINS I8 DR B, 3¢ LWHH w8 Gen AeI0Z e

a) WS BOTREDS b) 0,69 BTR0B g
c) a 2 b 2TER d) odnce e

8. Antimicrobial drugs that are derived from the natural processes of some
microorganisms and that can inhibit or destroy other microorganisms are

specifically known as what ?

a) Chemotherapeutic drugs b) Prophylactic drugs

c) Semisynthetic drugs d) Antibiotics

BT 2Ny FINFT THOOWOT YUSFHIT 305 ART WD ~ W BROMD 90
A8 ZemdR B8onn BRREPE. 81 YUSIv DOF TN QoD SIS ?
a) dBReEoR BRG b) dween BB BRp

c) 8- 338 BARG | d) Dedregensd
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9. Detzrgents are better than soaps in removal of greasy dirt because

10.

115

_d) They have longer fatty acids than soaps

b) They have surfactants which make them interact with greasy dirt
c) They contain less sodium and potassium

d) They are water repellents
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C) B RRCROI0 ) FPEDACI0 ROV

d) 2% BOTRHN

The process of softening of hard water by using nanoparticles is known as

a) Nanopurification b) Nanoremediation

¢) Nanofilteration d) All of the above
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a) DRRC Pbﬁ%eﬁﬁsa b) e TOTO

c) mRRe FRPRODT d) B0edS e

Blue revolution being envisaged by the Govt. of India is aimed at

a) Increasing industrial production of blue dyes
b) Augmenting pulse production :
c¢) Enhancing aquaculture products both in brakish and fresh water

d) Increasing fish production in fresh water
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